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Level 3 Assessment

Answer Key

WHEN LOOKING AT AN INTEGRATED CHIF [IC]:
HOW DO YOU KNOW WHERE THE TOF OF THE CHIF IS?
HOW DO YOU FIND ANY FIN NLIMBER ON THE CHIF?
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HOW CAN YOU TELL THE DIFFERENGE BETWEEN 2 IDENTICAL LOOKING
CAPACITORS ?

LABEL THE FOLLOWING SYMBOLS WITH THE NAME OF THE COMFONENT THEY
REFRESENT
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COMPARE AND CONTRAST A BLZZER AND A SFEAKER

DESCRIBE THE BASIC FLNCTION OF THE FOLLONING INTEGRATED CHIF [IC]:
ddd TIMER
4017 DECADE COLNTER
4911 BCD-TO-7 SEGMENT DISFLAY

TRLE OR FALSE : SOMETIMES COMPONENT SYMBOLS ARE SIMFLIFIED IN THE
SCHEMATIC DIAGRAMS TO MAKE IT EASIER TO SHOW CONNECTIONS.
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